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ARH 121 260 128 132
e 56 127 61 66
TEA 665 1, 694 858 83612 12 24 15 9
EJTIPN 8 12 6 6
&K 62 178 101 TT|&R 4 12 6 6
LB 163 414 208 2064 41 85 40 45
THRH 98 133 99 14
ZUEBE 16 41 24 176 &’ 437 1,043 524 519
ii]m] 31 92 47 45
EE 44 97 48 A9(HL7reE 252 642 320 322
— g 18 200 99 101|[-2& 112 254 132 122
Ti& 65 156 86 70| 3R 21 41 20 21
AE 62 179 90 89| tL#L 32 67 33 34
3HA 38 100 49 S1(|&iz) 20 39 19 20
L 17 45 18 21
BAF 31 59 29 0)FE & 119 243 131 112
LHEA 393 932 468 464|m 20 34 A 36 35
R 17 30 17 13
Ezn 18 36 17 19| 21 62 36 26
A 67 163 84 19| AR LR 21 43 23 20
AFR 39 86 46 40(I%F £ 20 37 19 18
WmESH 14 40 21 19
ITES2 31 68 36 32| FR 149 303 150 153
&8 40 103 50 53
TR 13 317 21 16|[F@ P iz 11 165 81 84
A 19 33 17 16|+ EHiz 12 138 69 69
& 4 5 3 2
BER 22 55 29 26(|F R 34 o4 19 35
YA 20 47 24 23
tif 106 259 120 139+ && 34 54 19 35




BT 4 | #H&EH | A0 ] £ BT & [ & A0 ] s
5 i i 3 2,280 5,999 2,942 3,057
5 i 2,280 5,999 2,942 3,057
EiRETHER 103 294 148 146
5 iRETILR 49 115 51 64
S iRET 5 4R 1, 141 2,848 1, 381 1,467
5iRETE SR 367 1, 005 508 497
5iRETA SR 160 474 229 245
5 iR BT & 26 75 37 38
EiRETE A 22 55 29 26
5 iRETHH 12 37 16 21
5 iR BTRE b 26 73 34 39
BiRETSi# 30 92 46 46
5 iR BT 5B 28 90 47 43
5 iRETE R 45 128 66 62
S iRETILE 2 103 288 143 145
5 iRETIE 3 87 226 109 117
SiRETIHLL 1 81 199 98 101

JII A 3higg 1,480 4,024 1,955 2,069 EETERERSERMEEIAQ -HEHK

nnRA 1,480 4,024 1,955 2,069

ERET£& | 109,211 262, 387| 128,404| 133,983
o 107 300 151 149
sl 104 303 154 149|| 5 & th i 80,836 187,798| 91,876 95,922
=g 394 1,009 482 92|z Etthis 3,800( 10,955| 5,415 5,540
7)o 453 1,210 967 643 it i Hhizh 4,763 13,136 6,358 6,778
No475 136 395 200 195 = Sithig 2,416 6,472 3,146| 3,326
NOREE 45 127 62 65|l b i 391 825 400 425
na#a 86 241 120 127)/ME a1k 1,934 4,649 2,266| 2,383
namxEs 12 26 14 12|01 Stttk 1, 304 3,739 1,833] 1,906
JIAAR 2] 49 31 18| A 3,229 8,624 4,252| 4,372
NnaiE 2 6 3 3|5 2 iz 6,778 16,166| 7,961 8,205
Jl[=)::E 31N 114 352 171 1815t itz 2,280 9,999 2,942| 3,057

10 th 15 1,480 4,024 1,955| 2,069




